=
<
[N

|
o
R

) dly™") [1/GeV]

tbar

o103

1/o0d’c/ d
H
Q

[EEY

Ratio to ATLAS

0.5

13000 GeV pp
I I I |

ptTtbar (ATLAS semileptonic ttbar)

Rivet 3.1.10, = 3.3M events

= B =
— \l\ s
— “\1\\\. 5
B KN ]
- RN =
— NN =Hm
— S <
— SN 1 m
| h 2. 1w
L . - 19
s —
= ) = 2
= - 5%
— B ATLAS \fg - %
— --0O-- Herwig++ 2.7.1 default -G
[
=— --d-- Herwig 7.2.1 default —=5
— ] O
— Jv
B -0
— — O
(@)
= + +++++ 4+ 5 =
— 32
IR _
EinnSl =B 1
B STE |
N *@\‘* |
— —0.5
| 1 1 1 | 1 1 1 1 1 1 | 1 1 |
0 200 400b Otb it 800
! ar{t} [GeV], [y Y in [0,0.4]



	Contents
	Page 1


